FEREROFEX (1/50)

6,606

. a7KE R
£y 71
(Ferskim)
b= REEST
i
™~
EHREE
TAE—RHREE
{
- e
™ BEEYIRERE
v
Lo |
EEEET
&
o HER
o
P“;
L |
45,
[Kp]
O
[
&

7,385

2,200 435

Fnct

820 1,750

780

1,400

,(
|

BB
TAIbR—%E

=8 (N
L TERHIC
r—S0%

VEFORE  Amakin

i

bt e, |

Fant
=

S = u -
— [Fg
i Hoksats A T Q o
NTFrvFr—HEE 4 _RTIL = .'! &
- N=N=| -u-%.l.
. Ak E ey 020 Mo P
--------------------------------- = HHE*% @ n-»...
— - s
— g 6.78 n =@
M2 lr—o0|r—o0|r—v0|r—v o
- - - - - o sEEAL =
1051 m|0.51 m{0.51 ni0.51 || EBAN—R BARIBZA
1069 m vl
O 1
- WAV AT A g
] -
%E
) ERE |
LAC 7Y@
— 0.96 i
\ / EHZHS X
BIAAZ A VBT DNT . BB
=96
154 nd
2,200 1,146 1,250 J 593 1,768
- 6,968 S 1
—- )

-
A

\

e

=
aX

B



